EX21

5 fla+h)=2{a+h)+5=2a+2h+5
f(~a)=2A-a)+5=-2a+5
fla®)=2(a*)+5=2a*+5
fla—2h)=2a—2h)+5=2a—4h+5
f(2a=-h)=2(2a-h)+5=34a—2h+5
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12, Sincex=-1<1, f{-)=-3(-1) +3==.
Sincex=0<1, £(0)=—+(0)" +3=3.

Sincex=12 1, f(1)=20") +1=3,
sincex=2=1,f(2)=2@)+1=9.

21. Since f(x)is areal qumber for any value of x, the domain of fis (-, ®).

23, [(x)is not defined at x =0 and s0 the domain of /is (—o0,0) U (0,22).
inator i hen -1=0orx==1
20, The denominalor of fis zero W 3 .
Therefore, the domain of fis (-o,-1) U (=1,1) U (1,%2)

33. The numerator is defined when 1 -x>0, -x>-1 or x<1.

Furthermore, the denominator is zero when x = + 2, Therefore, the domain is the
set of all real numbers in (-e0,-2) U (-2,1].



39, f(x)=2+/x
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